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0000000000000000000000000000000000000 z(#),y(#) 0000000
000000000*¥00000000000000 00000”70000
00 y(t) = (z(t),y(t)) DOODO

310 = 0 = 0.30) = (0. %)

oooooo («(¢),y(t) 0000000000000 0
00020000 f(z,y) 000 ~(t) = (z(t),y(t)) DOOO

(4.3) F(t) = f(z(t),y(1))
001000000000

00 4.6. 20000 f(z,y) 000 ~(t) = (z(¢),y(t) 0000000000000 D43) 000000

0 = 50 90) G0+ 5 00) o

oooood

*1 000 (w,y) 0 (a,b) 00000 (h,k) 0DOODODO0ODD0DO0DD00 Yh,k) 000000000 “I000007 00
0000000000000 00000000000000000000 ="Y4,y) 0000000000 f(z,y) 00000
f(x) 0000OO0OOO0O0DO0O0ODOO0OOODO

fla+h) = (df)ah +c(h)|h|
000000000000000000000000000000000000000000000000000,000000
00 “0000” 00000000

*2 0gooooo v0O “O000” 000000000000 0CO0O0OO0OO0OOOODOO0OOOOOO
*3 00 velocity 000 speed 0000000000000 ODOO
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o000 oo¢«ooooooo

a1(9) = WEAZID gy o) = WDV

00000z,y00000000 6—0000 ¢;(8) »00000
h(8) := & (i(t) + €1(6)), k(8) == 6(y(t) +e2(6))
000006—0000 h k—0000000000000000O00f0000000000000
F(t+6)— F(t) = f(z(t+0),y(t +0)) — f(z(t),y(t))
= f(a(t) + h(8),y(t) + k(5)) — f(a(t),y(t))
= %(m(t),y(t))h(é) + % (z(t),y(t))k(6) + e (h(5), k(8))/h(5)? + k(5)?

0000000 e(h,k) O (k)= (0,000000000000000000000000 60000 §&—00
00000000000

0046000000
dFF Ofdx Ofdy

@ awa oga =W

g000Oo0oO0oOooO00oDooO00ooo0oU0oO y0OoO0oO0oDoDoOOOoDoOoooo

0000 0000 v="v,v)00 P=(a,b)0000 y(t)="(a+tv,b+tvy) = a+tv (a = "(a,b))
0000 ~(¢)0t=000 POODOOOOOOOO »00000000000000000O0O0 00O P
0000000000 20000 f0000 (43)000000 F(#)0DO0OOOO

(4.4) F'(0) = %(a7 b)v + %(m b)vy = (df),v

00o0oO0o0o0oOo0oo0ooUoUn fO0 POOODOO0DOOOOODOOODOO

000000 O P=(e,b)000000000000O0OOO fO0O0O0OOOO

arad fr = ({013

0000 f0 POOOOOOOOO0O gradient vector 10 0*0000000000000 (4.4) O
(df)pv = ((grad f)p) - v

o000 «”0000000000000

** 000 (df)p 0000000000 O0000 “0000000” 000
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gd

41200000 f0O “0000000007,00 () 0000 t00000000000000000O0
0 (43)00000000000000000000000000O0

4200000 (v,y) 00000000000 f(z,y) =2?+2y+y?000000000000000
00000000000000000000 1000000000000000 100000000
0000000000000000000000000000000000000000000000
0000 y(t) = (cost,sint) 000D

430 P=(a,b) 00000000000 20000 f0PO0OOODOD (df)p D (0,000000
O0000000f00 POOODOOOOOOD »0000000 (df)pr 00000000 v O
(grad;)p 0000000000000 00000000000000O000v0000000000
DDDDDDv:t(cost,sint)DDDDDD

440 P=(a,b) 00000000000 20000 f0 POODODOOD (df)p O (0,0000000
000 POOO fO0000 y(t) = (z(t),y(t) (+(0)=P)0000000000000¢t=000
00 0000000 4(0)0 (gradf)p 0000000000000 O0D0OO0OO“0000000
0o0ooooooro

4500 f00000O00OOO0O

)1 (y=22 00 x#0)
f@y) = {O (otherwise)

DDDDU:t(Ul,Ug)I][IDEI,f[ID[IDI][ID v0o0gooog

7| f(tonte)

t=0

0o0oO0oOooOoOoooOofODoOoOoOooO




